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24 A small wooden block with mass 0.800 k
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e initial speed v, of the bullet is:

284.6 m/s (B) 290 8 m/s

——

(C) 281.4 mis (D) 287.7 mis

25 A turbine blade of radius 5 cm rotates an angle of 120°, the angle of rotation in radians:
/2 rad (B) m/4 rad

(C) /6 rad

(D) 2n/3 rad

6 The angular position & of a 0.18 m radius flywheel is given by 6 =2 {* rad. Find 8 in radians att=5s.

128 rad

(B) 250 rad

(C) 54 rad

(D) 432 rad

7 The anguiar position 8 of a 0 18 m radius flywheel is given by 6 = 2 t* rad. Find the average angular
city over that interval from ty = 2stotz=78

38 rad/s (B) 134 rad/s (C) 56 rad/s (D) 104 rad/s

8 What should the diameter of an axle be in order to work at a steady 1 cm/s when it is turning at 7 5
nin? (hint: 1 rev = 360° = 2m rad)
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Q.1 The unit of speed in Sl is:

(A) m (B) m/s (C) Km/sh (D) Kg/s

Q.2 Which of the following quantities is not a basic quantity?

(A) Mass (B) Speed (C) Length (D) Time

Q.3 The components of vector B are given as B, = —6 m and B, = 9 m. The magnitude of vector B is

(A} 8.5 m (B) 9.2 m (C)10.8m (D) 11.7 m

Q.4 Giventwo vectors A =i+ 2]+ 2kand B=2i -]+ 6k . Then, A.Bis:
(A) 12 (B) 4 (C) 10 (D) 6

= -

Q.5 The angle between the vector A = j + k and the positive z-axis is:
(A) 45° (B) 60° (C) 120° (D) 90°

—_

Q.6 A caf takes 12 s to accelerate from 0 to 48 m/s with constant acceleration. This acceleration is:
(A) 2 mis® (B) 3 m/s® (C) 4 mis® (D) 1 mis?

Q.7 A car moves along the x-axis with constant speed, the acceleration of the car is:
(A) Increasing (B) Decreasing (C) 9.8 m/s? (D) Zero

Q.8 A particle moving from T, = 2i + 2] + 4k to , = 3i + 4] + 3k. Then the displacement is:
(A) i+ 2 (B)i+ 2] —2k (CYi+2j+k Dy i+2]—k

Q.9 A player throws a ball at an angle 8 to the horizontal with velocity 8 m/s. The maximum honzontal
that the ball can reach is:
(A) 1.63 m (B) 3.67m (C) 653 m (D) 10.20 m

Q.10 The velocity and acceleration of a body in uniform circular motion are:
(A) Perpendicular (B) Parallel (C) Differed by 100° (D) Differed by 45°

Q.11 The Newton's Second Law is given by:

(A) W = mg (B) Fy = —m3g (C) Frey = md (D) P = my

Q.12 A person of mass 80 kg. His weight is:

(A) 686 N (B)735 N (C) 784 N (D) 833 N
Q.13 The frictional force on a moving be 'ﬁr roportional to the: )
(A) force causing the motion 'r' (E eration ﬂfﬂ'ﬂ body
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Q.14 A moving particle of ma ""-'-"_;:f;-'. <g, h nergy of 25 J. It speed is:

Q.15 If the work d

A20W (B (D) 5W

2.16 A force F ca " The gravitational potential energ
Ry . (D)1176

A) 568 J
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(A) Toroe causing the motion
. () wn enenied
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Q.16 Two blocks A and B {my=120 kg and mg= 58 hgpmwmnmm y
passng over a asmall, fnictionless Pulley rest on frictioniess planes. The LF

accaleration of the blocks is
(A) 4mis® (B) 4.8 mvs’ (C) 3.1 mie® (D) 4.3 s’

Q.17 A particle moves 17 m in the positive x direction while being acted upon by a constam force

F=(3i + 4k) N. The work done on the particle by this force is
(A) 45 J (B) 51 J (C) 36 ) (Dy30 4

Q.18 force F causes the 5 kg box to slide up from point A to point B,
The work done by the normal force on the box is
(C)49 J (D) zero :

(A) 98 J (B) 58 J

Q.19 An object that has kinetic energy must be:
(A) at rest (B) falling (C) moving (D) non of these

20 A moving particle of mass 3 kg, has kinetic energy of 10 J. Its speed is.
:} 3.37 m/s (B) 2.58 m/s (C) 3.16 m/s (D) 283 mis

speed of 3 m/s, its kinetic energy is:

icke of mass 10 kg moves with a
332:5‘?1 S (B) ;I? J (Cy274 (D) 18J
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(A) Increasing
(B) Zero
HiE ewlon's Second Law is given by
Fhr': = md E
{B;F Fuy = -ma =3
Q.3 A car traveis e el ©) W = m§
. Vais north at constani velocity, th .
(A) less than zero (B) greater than m:}nnt CIO% ok R e =
- (C)aaN (D) zero
-4 A constant force F = '
acceleration of the object ( 24 N)i + (18 N)] acts on an object of mass 10 kg The magnitude of the
(A) 6.0 nvs (B) 5.0 m/s* (C) 4.0 nvs? (D) 3.0 mis’
Q.5 The acceleratio |
- "ﬂfﬂfmﬁ?ﬂnmar'mnnm1ETm‘.Apamunquuightqunntm“mn.Hmm
’ (A) 61 Kg (B) 73 Kg (C) 84 Kg (D) 56 Kg
||| Q.6 A man of mass 70 kg. His weight is:
(A) 588 N (B) 637 N (C) 539 N (D) 686
x10™*' kg) leaves one end of a TV picture tube with zero initial speed and |

gﬂ,Mh1-3mm,ﬂmMgﬂmawd
stant, (ignore the gravitational force on the electron) the net force |

(D) 3.2x10" N

Q.7 An electron (mass = 9 11
travels T a straight line to the '
3.00x10" m/s. If the accelerating force is con

onitis:
(B) 2.28x10™ N

(A)1.6x10°™ N
Q.8 A light cable from the ceiling suspends a ball of weight 380 N in static equilibrium. The tension in the

(C) 420 N (D) 440 N

from the ceiling by a light cable in static equilibrium_ If the tension In the
(D)4 Kg

(C) 2.73x10™ N

| cable is:
| (A) 380N (B) 400 N

Q.EAbﬁnknanssmisaumndad

| cable is 58.8 N, the mass of the block is:
|' (A) 6 Kg (B) 3Kg (C)S5Kg
Q.10 A 800 kg elevator is moving up with zero acceleration. The tension in the cable is:
(D) 8820 N

(A) 10780 N (B) 7840 N (C) 11760 N

Q.11 In the figure a 13 kg box is pushed at a constant speed up the frictionless ramp
(D)58.8 N

| by a horizontal force F. The magnitude of F is:

.il (A) S3.9N (B)44.1 N (C)B3.7TN 0w

i | Mhmhmﬁmzﬁ?.mmhmmm
Qﬂmmﬂmm;m# (C) 14800 N (D) 13800 N
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| (A) 11800 N
mass m is placed on incline that makes an angle 8 with respect to the

(D) m g cosé

| Q13A |
| horizontal. The normal force Is:
(Cymg

| () mgsing  (B)mgtand



